SPARE PARTS EXPLODED VIEW
STORAGE ELECTRIC WATER HEATERS

Model

PRO RV PL

R8216508-02EN - Edition 02 - 20/02/2012

370 0252 PRO R 50V 1,8K PL

370 0253 PROR 80V 1,8K PL

370 0254 PRO R 100V 1,8K PL

370 0227 PROR 120V 1,8K PL

370 0257 PRO R 150V 1,8K PL

Reference Ind. Model type Begin End

Storage Electric Water Heaters . PRO RV PL



1d A " Odd - S1ayeaH Jayepn O1109|3 abelols

03/12 > ...

... <02/12

R8222703



S/8/S/S/S
Key N Description Manf.Pt.N / Type Manf. date
from to

0001 | HATPEBATEJIbHbBIA SMEMEHT 1800W 65108913 . e e 02/12
HAMPEBATEJIbHBIN 3NEMEHT 1800W 65111868 e e 03/12

0002 | NIAHEL} C MPOKNALKOW 65108275 LI 02/12
®NAHEL| HA 5 BONTAX 65111789 TR 03/12

0003 | TEPMOCTAT 691217 s s

0014 | KPbILLKA MNACTUKOBAA 65108467 T 02/12
KPbILUKA MIACTUKOBAA 65180061 e e 03/12

0018 | PYYKA PEIYNIMPOBAHUA 65102598 s n x

0019 | MHONKATOPHAA NTAMIMA 993025 LRI

0022 | MPEOOXPAHUTEIBHLIA KINAMNAH 8,5 BAP 571730  (n x

0023 | MATHVEBbIV AHO[ D:25,5 L:230 M5-M8 993014-01 s n x

0027 | CKOBA ®NAHLIA 993011 . s 02/12

0030 | BUHT M6X20 65151225 e e 03/12

0031 | FAVKA M8 570127 s 02/12
TAVIKA M6 994140 = e s 03/12

0033 | MPOKITAOKA ®JTAHLIEBAA 65111788 e e 03/12

0035 | TEPMOMETP 65108466 s

0044 | SAXKNM ONA KABEA 573266 . .
SAXUM O5A KABENA 573266 . 03/12
SAXNM ONA KABENA 993154 . 02/12

0045 | BUHT M6X12 993000 LRI

0050 | KABEJIb QNEKTPUYECKNIA 993199 s (n x

0053 | MEPEXOOHWK ANSNEKTPUYECKUN 1/2” 571397 .

0058 | PACCEKATENb XOIOAHOW BOAbI G 1/2 L=116 | 65111141 R

0068 | KPBILIKA NHOVUKATOPHOW NAMMbI 65108468 s (= |x

0071 | N3ONATOP KIEMM TOHA 65103482 e e 02/12

Storage Electric Water Heaters . PRO RV PL



5/8/S/S/S
Key N Description Manf.Pt.N / Type Manf. date
from to

0001 | HEATING ELEMENT 1800W 230V 65108913 TR 02/12
HEATING ELEMENT 1800W 228V 65111868 . s 03/12

0002 | FLANGE WITH GASKET 65108275 TR 02/12
FLANGE (5 HOLES) 65111789 . e s 03/12

0003 | THERMOSTAT 691217 s s

0014 |PLASTIC COVER + SIGNAL LAMP CAP 65108467 s 02/12
PLASTIC COVER + SIGNAL LAMP CAP 65180061 e e 03/12

0018 | CONTROL KNOB 65102598 . s

0019 | SIGNAL LAMP 993025 e e

0022 | SAFETY VALVE WITH LEVER (1/2" 8,5 BAR) 571730 e s

0023 | MAGNESIUM ANODE D:25,5 L:230 M5-M8 993014-01 s s

0027 | FLANGE BRACKET 993011 s 02/12

0030 | SCREW M6x20 65151225 e e 03/12

0031 |NUT M8 570127 . s 02/12
LOCK NUT M6 994140 e e 03/12

0033 | FLANGE GASKET 65111788 . s 03/12

0035 THERMOMETER 65108466 s

0044 | CABLE CLAMP 573266 .
CABLE CLAMP 573266 . 03/12
CABLE CLAMP 993154 . 02/12

0045 | SCREW M6X12 993000 e e

0050 | CABLE (POWER SUPPLY) 993199 . s

0053 | CONFECTION DIELECTRIC JOINTS 1/2” 571397 .

0058 |BAFFLE G 1/2 L=116 65111141 s

0068 | SIGNAL LAMP CAP 65108468 . e e

0071 | TERMINAL SHIELD (YELLOW) 65103482 o s 02/12

Storage Electric Water Heaters . PRO RV PL



Storage Electric Water Heaters . PRO RV PL

LIST OF THE ABBREVATIONS

HW .. . Hot water.

: Cold water.

. Ceramic resistance (normal heating).

. Ceramic resistance (accelerated heating)
: Immersion heater.

: With fittings.

: Without fittings.

. With fittings and another outlet connection.
: With mixing valve.

: Without mixing valve.

. Power of th appliance.

. Appliance with normal pression.

. Appliance with low pression.

. Appliance with variable power.

. Appliance with fixed power..

IDENTIFICATION PLATE

SERIAL NUMBER

6 Characters : 0309 08
[ i
Year of manufacture —— Manufacturing day
Month of manufacture

9 Characters : 5912 0606

Year of manufacture 7 Sequencial number
Month of manufacture

15 Characters :

02 11 00001 007843

Year of manufacture _TI Code appareil
Month of manufacture Sequencial number
21 Characters : 3200050 XX 08115 0000001
L Sequencial number
Product reference Year (08) / Manufacturing day (115)

22 Characters : 3200050 XX 070115 0000001

Sequencial number

Product reference Year (07) / Month (01) / Manufacturing day (15)

The indications mentionned on the prices, commercial or technical literature and the scheme are written
for your guidance and are available at a given time. The CONSTRUCTOR retains the power to modify the presentation,
the form, the size, the conception or the material of the products.



